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The figures in the margin indicate full marks
for the questions.

- Answer either in English or in Assamese.
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Answer question Nos. 1, 2, 3 and any four
from the rest.

1,2,3mmmaﬁﬁmﬁamﬁr m'srﬁm
Tes Rl

Choose the correct answer of the following

questions : 1x10=10
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(a) Who advised substitution of functional
organisation structure in place of line
orgamsatlon structure ?
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‘ & line sno,w spRa «ifE (iv) Professional Management
&8 St q 11 .\ ‘ C |
Functional Jicstige Ao cvnw ffee

CoBmIST ~RpiE
(i) Henry Fa}’OI , DELPHI METHOD is associated with
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(i) F. W. Taylor i i ‘ (i) Forecasting Technique
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(b) MBO (Management by Objective) 1s al . |
O ‘. iv) Strategic Planning
MBO (GTaee) ~ARGIFFNT (P! - PR AR
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] il tlon) | lch of the following is not a base of
(i) MBE (Management by EXcep ipartmentation ?
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(ii) Management by Results | ) Customers (212)
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(e) What does not exist in a formal organisationa
relationship ?
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| i) Entrustment of responsibility for job
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(ii) Granting autonomy to take decisions
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(iii) Relations arising out of somo-cultur‘
values '
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(iv) Holding subordinates responsible
results

(f) The author of the‘book “The Human S;
of Enterprise” is : '

«The Human Side of Enterpnse

(R
i) Pl Drucker
3,97, QIR
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(ii) Max Weber
e len

(iii) A. H. Maslow
Q. 925, A

(iv) Douglas McGregor -
Ty (e CEI‘»‘N

”) One of the characteristics of Laissez Faire

leadership is :

Laissez Faire (T9%9 «Bl o749 24 ¢
(i) Leaders exercise authority absolutely
FTOFTCE AT TR TR I

(ii) Give high degree of freedom to the
followers
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(iii) Leaders decentralise authority to the
followers '
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~ (iv) Leaders take all the decisions .
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(iii) A technique of scheduling activities of
a project

4 AN IERAR SifRIgE TR

: (iv) A technique of information technology
o2 e B T '

‘Jargon’ is a .practice in :
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- (i) Science of meaning

we Reaime

(ii) Informal communication

SIS IS

(iii) Gestural communication

(h) Job enlargement indiéates .
= Rgfow P ¢
(i) Horizontal job loading
TG TR IR
(ii) Vertical Job loading
SR TR IR
(iii) Higher work performance
R
| (iv) Higher productivity
- et ! = i

(i) - PERT (Programme Evaluatiori and Revi oIl QACAtsre ‘
~ Technique) is : i (iv) Filtering of information
©UT AfRFIReTS

PERT (Programme Evaluation and Revie

Technique) ¢Bl 3 | ‘
dieh @ short answers on the following :

E ' 2x5=10
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. . . ' '
erte briefly about wuniversality of
inanagement. :
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(i) A traditional technique of control

SRS NTEeR e

(ii) A technique to prepare master budg

SE1 AT (OAR FAN <61 P
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(b) Creativity in decision making
Fras oS JEAAETO!

(c) State two factors affccting span

€) Explain Matrix Organisation Structure.
Matrix ooz siSResT < =1

1) Write a note on ‘Graicunas Theory’.

management. Graicunas ©YOGN 65F® €51 Gl Bt
 SRPENR JiAFO® ASK R 4t 0! Suggest measures to make delegation of
TrEd ¥

authority effective in an organisation.
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: trinsic motivatt
(d) Give two components of ex | o < '

of employees. ' | ; : i
qﬁ—ﬁs @ ’ What are the external barriers of |

SR HETE Tl oAt ot communication ? |
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(é) What do you mean by Management.
~ Exception ?. ‘ v
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following questions ',How do  technological changes affect
3. Answer any five of the 45  management ? Discuss.
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) Explain the contmgency approach of
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(a) What are the findings of Hawthorne stu’

sl W is scientific management approach different
. ! : i f‘zﬁ 2.48
Howthorne SIFR TRIGIRR |

il Human relations approach of management?
fically explain. ) 10
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(b) Mention the types of planning prem:
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Discuss ‘the difference between Line and
Functional organisation structure. Explain the
#cope of authorlty of a functional manager.
6+4=10
Line wi% Functional seatsRss e ATSHAR
WMW %301 Functional #RbIEE o Fgw
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What are the stages of evolution of manageme
thoughts ? Discuss the lmportant features _
classical theories of management. . 5+578
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How does strategic planning differ fra
operational plannmg ? What are the limitatio

of forecasting? 3 +5=

Or / «iz

raw the distinction between Authorlty and
Responsibility. Mention the 11m1ts of authority.
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Kplain the relevant features of William Ouchi’s
ieory ‘Z’ of motivation. Also identify three
istinctions between American management style
d Japanese management style. 7+3=10
Villiam Ouchi-3 el *Z’ 341 erifre (M%)
| BE Ay B9 | SRS ARG W i
oA 911157 ARG s e fof! =iiefe foare a1 |-
6. Explam the various bases of Departmental . ‘ Or / 733l
Also state the benefits of departmentatlon eadershlp is the function of leader, follower

S R 90 ﬁ@sﬂtﬁﬁ il situation.”— Elucidate the statement. Briefly
el B3y o alyse the approaches to the study of leadership
R SrEd 1 ghaviour. : 5+5=10
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Enumerate the basic characteristics of decis
making. What are the stages of the proce 8
rational decision making ? 5+08
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How is communication important for effectiy

management performance ? State the advantag
and disadvantages of informal communication

- 4+6=1
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What are the steps in controlling process 7 St

the reasons for employees resistance to contt
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What do you mean by planned chan
d remedies for employees resistan
2+8%

ge ? Desctl

the causes an
to change. ‘

SRR R R & e FE
fEETe qE SN TR FIEPR i
sfemnE I T |

42/4Sem 2) PRMN (1) 11500¢




